Dividing Money (B)

—_

10.

Calculate each quotient.

30 ) £1487.10 2. 11) £519.97 3. 85) £6069.00
64 ) £5726.08 5. 88) £4535.52 6. 50) £1601.00
68 ) £5771.16 8 52) £3001.96 9.  52) £1028.56

If 52 identical backpacks cost £907.40, how much did each backpack

cost?
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Dividing Money (B) Answers

10.

£49.57

30 ) £1487.10
— £1200.00

£287.10
—£270.00

£17.10
—£15.00

£2.10
—£2.10

£0.00

£89.47

64 ) £5726.08
— £5120.00

£606.08
—£576.00

£30.08
—£25.60

£4.48
—£4.48

£0.00

£84.87

68 ) £5771.16

—4£5440.00

£331.16
—£272.00

£59.16
—£54.40

£4.76
—£4.76

£0.00

Calculate each quotient.

£47.27

11) £519.97
— £440.00

£79.97
—£77.00

£2.97
—£2.20

£0.77
—£0.77

£0.00

£51.54

88 ) £4535.52
— £4400.00

£135.52
—£88.00

£47.52
—£44.00

£3.52
—£3.52

£0.00

£57.73

52 ) £3001.96
— £2600.00

£401.96
—£364.00

£37.96
—£36.40

£1.56
—£1.56

£0.00

£71.40

85 ) £6069.00
— £5950.00

£119.00
—£85.00

£34.00
—£34.00

£0.00

£32.02

50 ) £1601.00
—£1500.00

£101.00
—£100.00

£1.00
—£1.00

£0.00

£19.78

52 ) £1028.56
— £520.00

£508.56
—£468.00

£40.56
—£36.40

£4.16
—£4.16

£0.00

If 52 identical backpacks cost £907.40, how much did each backpack

cost? £17.45
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